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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. TRenel Femey 70 U O W A F JaEd: o |

Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. T UAE TR T ST TURRK § FHA PR H I / 3R / SR
BH W BRI AT 3 WY i WEl o |

If there is any error / difference / contradiction in Hindi &

English versions of the question paper, the question of Hindi

version should be treated valid.
3. QI YT AT € | U9 ShHIH 23 Te 24 H M &h ghed & |

All questions are compulsory. Question Nos. 23 and 24 have

internal choices.

4. T% T A ITW &l e IW-YRAH | & G |

Write the answer to each question in the given answer-book only.
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5. W9 U % UH 9 A YF G 3 Al 9T §, 37 A A6 A EA Th
T e e |

For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in

continuity.

6. STl W AEYTF &, W A hd a9 SR |

Draw neat labelled diagram wherever necessary.

7. U HETR 1 % IR AW (i, ii, iil 99T iv ) § | Y 9T & SW F G-
THT (A, &, § TG T) & | T Tohod P ITRER SW-YRAS H
TEAER 1 TR TR G

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as

mentioned below :

U9 HHIH T I HT HHER

Question No. Correct letter of
the Answer

1. ()

1. (i)

1. (i)

1. (iv)

1. (@)  SHiedar gl S §
(37) T wE ST | () e wE e A |
(@) o7 o Ud A § (x) wfoasn T8 W H |

SS—42-1—Bio. I


http://www.studentbounty.com/

Cleistogamy is found in

(A) Viola & Primula (B) Primula & Oxalis

(C) Oxalis & Viola (D) Salvia & Primula.

(i) STl §RT H1Teh Fad H I &

(31) el (@) W

(@ TR () 3w |

Example of vegetative propagation by roots is

(A) Potato (B) Mentha spicata

(C) Carrot (D) Dalbergia sisso. %
(ii)y  STHeTo] ST SHTIMHT T I TeAT I Il T &

(37) wIEESTES () S

(®)  ®IERSS (%) O |

The enzyme which dissolves the bacterial cell wall is

(A) Lysozyme

(B) Ligase

(C) Phosphatase

(D)  Polymerase. %
(iv) & 9T e §

(3) @4 (@ <=

@ TUd X ®AH I

Asafoetida is obtained from

(A) Stem (B) Root

(C) Flower (D)  Fruit. %
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10.

4
U WA ! @IST e AR HE U § & ?

Who invented the penicillin and from which plant ?

I J&T I IRA Tk A H SIWR T Ao & WU 9 THR & 8d € ?

What type of pyramid will be in a tree ecosystem of biomass and

. 1
number of organism ? —

2

7 T2 qh T HT 999 & ?

What is the rule of Ecological tenth ?

N |+~

T GIEAUT Ue I TI&T0T § R’ 3R & ?

What is the difference between In-situ conservation and Ex-situ

. 1
conservation ? —

2
IS Y THR U A & 2

How is Yogurt obtained ? 1

TR T & AT THhl o1 1 & ?

What is Interferon and what is its function ? + =1

“UTTERTT ST 37 Y ek SIeTeH % 9 H TW & U N4 & |7 I8 HY a5
% HROT 3R TG BT e ?

"Pollen grains are preserved for a long period in the form of fossils."
1 1

N |~
N |+~

Which substance is responsible for this property and why ? > + 2 =1
EH el T A § 2 3T W Ed W H A |
What is Heterostyly ? Explain with example. % + % =1

T AT T VT ¥ R T 82T & 5T, Al hi=-9 KA1 TAT S BN 2

If Heterocyst is removed from Blue-green algae, which activity will be
affected ? 1
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11.

12.

13.

14.

15.

16.

17.

18.

5
el Sl et § TS ONF W ik o o 3T 1 garel 97 2

What will you suggest to initiate early roots in Rose cuttings ? 1

T OeT TEad Y Fad ¢ 2 Th ST I 5 |

What is Mycorrhizal association ? Give one example. é + % =1
Fel &1 U2l URUT o A as A A ET |

Write the botanical names of any two petroplants. % + % =1
U9 U TR T SAIIT A ¥9d J § 91l RE € | G |

The flower is a modified determinate shoot. Explain. 2

FEAE URT o HAl AT Bl W HA W ITH YUk IS & ST € | BRI
A |

Leaflets of Mimosa pudica (Touch-me-not plant) are closed if any part

of plant is touched. Give reason. 2

IT I IR AHI O.P. = 8 Atm, T.P. = 6 Atm & T2
ISR BH O.P. = 5 Atm, T.P. = 2 Atm &
Al STeT T SEROT S o1 IeRT hi 3TR &1 3TR o/ ?

If cell A has O.P. = 8 Atm, T.P. = 6 Atm and

cell Bhas O.P. = 5 Atm, T.P. = 2 Atm

then the diffusion of water will be towards which cell and why ? 2
TRT S A a6l el g1 URHT & e dF T Td ol A G |

Write the botanical names and famil of any two fodder yielding plants.

2

“ZHRY T Dotk AT HIZT % aR W SR & AR W A 980 ®edr | =9
X T T AT € ? TH FAER T HT IO E 2
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19.

20.

21.

22.

23.

6

"Tomato has thick pericarp and does not burst even when it is thrown
forcibly against wall." What is the name of this tomato ? Give reason

for this behaviour. % + 1% =2

FIH A5 P SERA HF THR AT AT § 2 FIH A BT A DA o

T |

How are artificial seeds produced ? Draw a labelled diagram of
artificial seed. 1+1
T THT-FRERIZ Td TR ThRT-FREREORH § OR TE 3R
@u |

Write four main differences between cyclic photophosphorylation and

non-cyclic photophosphorylation. 2
ST g% F T & HiE AR 2T AT |
Write any four objectives of Bioagriculture. 2

IEF Y& UAET ST RIAFRY FY Fed § 2 TUH AR THE T F A
AQWU | - 9 Y FH AW 6 T FAR U D ST |
What is vector-less direct gene transfer ? Write names of its main four
methods. Describe with labelled diagram Gene-gun method.

1+1+1+1=4
T Tl W TEHHE & 9 9 TN T I[E0T Fed a0 HI S | T FgE
T TR T T 9912 |

CEE

START STFAT & F e RO ST SIEIOT HEA AU IS | STelshHE i
7 TS F T TARY |

Describe with examples the various stages of xerosere found on bare
rocks. Draw the diagram of Lithosere on bare rock. 3+1=4

OR
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Describe with example the various stages of hydrosere succession.

Draw the diagram of various stages of hydrosere. 3+1=4

24. TARHIAEET THAT H ARG =T hl FEEaT d FOASTE TAT TR GX
qET |

SR

el Tk i IR = I el  THAES a1 IR AT |

Explain the Glycolysis process with the help of linear diagram and

write its summary. 2+1+1=4
OR

Explain Krebs cycle with the help of linear diagram and write its

summary. 2+1+1=4
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